

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia **Centralized Request for Quote** Clothing

Proc Folder:

1207045

Doc Description: DEP Uniforms

Reason for Modification:

Proc Type:

Central Master Agreement

\$16.20

\$1,215.00

Date Issued

Solicitation Closes

2023-04-04

Solicitation No

Version

1

2023-04-18 13:30 CRFQ 0313

DEP2300000030

BID RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

VENDOR

Vendor Customer Code: VS0000041296

Vendor Name: JONAH'S ENTERPRISES INC

Address: 652 LEFFERTS AVE BROOKLYN, NEW YORK 11203

Street: 652 LEFFERTS AVE

BROOKLYN City:

State: **NEW YORK** Country: USA

Zip: 11203

Principal Contact: MANNY STONE

Vendor Contact Phone: 718-502-8837

Extension: 718-874-9827 / FAX

FOR INFORMATION CONTACT THE BUYER

Joseph E Hager III (304) 558-2306

joseph.e.hageriii@wv.gov

Manny Vendor Stone Signature X

141962956 FEIN#

DATE

04/13/2023

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Apr 4, 2023

Page: 1

FORM ID: WV-PRC-CRFQ-002 2020/05

ADDITIONAL INFORMATION

The West Virginia Purchasing Division is soliciting bids on behalf of the West Virginia Department of Environmental Protection (WV DEP) to establish an open end contract for Uniform Clothing Items per the attached specifications and terms and conditions.

INVOICE TO		SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	RGINIA		
OFFICE OF ADMINISTRATION			VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE					
CHARLESTON	WV	No City	WV		
US		us			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Parka (Item #1)	75.00000	EA		
				\$279.90	\$20,992.50

Comm Code	Manufacturer	Specification	Model #	
53101800	S	SAME SPECIFICATION		

Extended Description:

Parka (Item 1)

5.11 Aggressor #48032, or equal.

INVOICE TO		SHIP TO		
ENVIRONMENTAL :		STATE OF WEST V	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION			VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		us		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Weatherproof Waist Length 5 in 1 Jacket (Item	100.00000	EA		
	#2)			\$279.90	\$27,990.00

Comm Code	Manufacturer	Specification	Model #	
46181543		SAME SPECIFICATION		

Extended Description:

Weatherproof Waist Length 5 in 1 Jacket (Item #2)

5.11 Tactical 5-in-1 #48360, or equal.

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST	/IRGINIA
OFFICE OF ADMINISTI	RATION	VARIOUS LOCATION INDICATED BY OR	
601 57TH ST SE			_
CHARLESTON	WV	No City	wv
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Tactical Vest (Item #3)	100.00000	EA		
				\$85.50	\$8,550.00

Comm Code	Manufacturer	Specification	Model #	
46181507		SAME SPECIFICATION		
		or time or con to ATION		

Tactical Vest (Item #3) 5.11 Taclite Pro #80008, or equal.

INVOICE TO		SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER			
601 57TH ST SE					
CHARLESTON	WV	No City	WV		
US		us			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Tactical Hooded Sweatshirt (Item #4)	100.00000	EA		
				\$105.20	\$5,260.05

Comm Code	Manufacturer	Specification	Model #	
53101700				
		SAME SPECIFICATION		

Extended Description:

Tactical Hooded Sweatshirt (Item #4) Vertx Firebase Hoody #VTX8837, or equal

INVOICE TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE		
CHARLESTON WV	No City WV	
US	US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	Rain Jacket, Men's (Item #5)	50.00000	EA		
			_ `	\$155.70	\$6,228.00

Comm Code	Manufacturer	Specification	Model #	
46181543		SAME SPECIFICATION		

Rain Jacket, Men's (Item #5)

5.11 Tac Dry Rain Shell #48372, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	RGINIA	
OFFICE OF ADMINISTRA	ATION	VARIOUS LOCATIO INDICATED BY ORD		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	Rain Pants, Men's (Item #6)	40.00000	EA		
Ĺ				\$152.90	\$6,116.04

Comm Code	Manufacturer	Specification	Model #
46181544			
		SAME SPECIFICATION	

Extended Description:

Rain Pants, Men's (Item #6) Spiewak Weathertech tacticle response pant #S1785, or equal

INVOICE TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE CHARLESTON WV US	No City WV	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	Rain Jacket, Women's (Item #7)	40.00000	EA		1 Otal 1 110c
				\$49.94	\$1,498.10

Comm Code	Manufacturer	Specification	Model #	
46181543				
		SAME SPECIFICATION		

Rain Jacket, Women's (Item #7)
Port Authority Northwest Slicker #L7710, or equal

INVOICE TO	SHIP TO		
ENVIRONMENTAL PROTECTION	STATE OF WEST V	IRGINIA	
OFFICE OF ADMINISTRATION	VARIOUS LOCATIO INDICATED BY ORI		
601 57TH ST SE			
CHARLESTON WV	No City	WV	
US	US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
8	Rain Pants, Women's (Item #8)	30.00000	EA		
				\$42.51	\$4,251.15

Comm Code	Manufacturer	Specification	Model #	
46181544		SAME SPECIFICATION		
		OAME OF ECIFICATION		

Extended Description:

Rain Pants, Women's (Item #8)

Port Authority Torrent Waterproof Pant #PT333, or equal

INVOICE TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION 601 57TH ST SE	VARIOUS LOCATIONS AS INDICATED BY ORDER	
CHARLESTON WV	No City WV	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
9	Twill Trousers, Men's (Item #9)	100.00000	ĒA		1 Ottal 1 1100
				\$58.50	\$5,850.00

Comm Code	Manufacturer	Specification	Model #	
53101502				
		SAME SPECIFICATION		

Twill Trousers, Men's (Item #9) 5.11 PDU pant #74338, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRAT	ION	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
10	Twill Trousers, Women's (Item #10)	100.00000	EA		
				\$58.50	\$5,850.00

Comm Code	Manufacturer	Specification	Model #	
53101504				
		SAME SPECIFICATION		

Extended Description:

Twill Trousers, Women's (Item #10) 5.11 PDU pant #64304, or equal

Date Printed: Apr 4, 2023 Page: 6 FORM ID: WV-PRC-CRFQ-002 2020/05

SHIP TO	
STATE OF WEST VIRGINIA	
VARIOUS LOCATIONS AS INDICATED BY ORDER	
No City WV	
	STATE OF WEST VIRGINIA VARIOUS LOCATIONS AS INDICATED BY ORDER

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
11	Tactical Pant, Cotton, Men's (Item #11)	100.00000	EA		
				\$62.10	\$6,210.00

Comm Code	Manufacturer	Specification	Model #	
53101502				
		SAME SPECIFICATION		

Tactical Pant, Cotton, Men's (Item #11)

5.11 Tactical #74251, or equal

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRA	ATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City	WV
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
12	Tactical Pant, Ripstop, Men's (Item # 12)	100.00000	EA		
				\$67.50	\$6,750.00

Comm Code	Manufacturer	Specification	Model #	
53101502				
		SAME SPECIFICATION		

Extended Description:

Tactical Pant, Ripstop, Men's (Item # 12)
5.11 Tactical Ripstop TDU Pants #74003, or equal

Date Printed: Apr 4, 2023 Page: 7 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRATION		VARIOUS LOCATION INDICATED BY ORI			
601 57TH ST SE					
CHARLESTON	WV	No City	wv		
US		us			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
13	Tactical Pant, Ripstop, Women's (Item #13)	100.00000	EA		
				\$58.50	\$2,925.00

Comm Code	Manufacturer	Specification	Model #	
53101504				
		SAME SPECIFICATION		

Tactical Pant, Ripstop, Women's (Item #13) 5.11 Tactical Ripstop TDU Pants #64359, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST	/IRGINIA	
OFFICE OF ADMINISTRATION		VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
us		US		

Line	Comm Ln Desc Qty	Unit Issue	Unit Price	Total Price
14	Tactical Pant, TacLite Pro or Equal, Men's (Item 50.00000	EA		
	#14)		\$60.30	\$3,015.00

Comm Code	Manufacturer	Specification	Model #	
53101502				
		SAME SPECIFICATION		

Extended Description:

Tactical Pant, TacLite Pro or Equal, Men's (Item #14) 5.11 TacLite Pro #74273, or equal

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
15	Tactical Pant, TacLite Pro or Equal, Women's	50.00000	EA		
L	(Item #15)			\$15\$57020	\$\$2,25280000\$16.20

Comm Code	Manufacturer	Specification	Model #	
53101504				
				ĺ

Tactical Pant, TacLite Pro or Equal, Women's (Item #15) 5.11 TacLite Pro #64360, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
16	Tactical Pant, Stryke or equal, Men's (Item #16)	50.00000	EA		
				\$85.50	\$6,412.50

Comm Code	Manufacturer	Specification	Model #	
53101502				
		SAME SPECIFICATION		

Extended Description:

Tactical Pant, Stryke or equal, Men's (Item #16) 5.11 Tactical Stryke #74369 or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	IRGINIA	
OFFICE OF ADMINISTR	RATION	VARIOUS LOCATIO INDICATED BY ORI		
601 57TH ST SE CHARLESTON	1407			
	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
17	Tactical Pant, Stryke or equal, Women's (Item	75.00000	EA		100111100
	#17)			\$73.80	\$3,690.00

Comm Code	Manufacturer	Specification	Model #	
53101504				
		SAME SPECIFICATION		

Tactical Pant, Stryke or equal, Women's (Item #17) 5.11 Tactical Stryke #64386 or equal

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST V	IRGINIA	
OFFICE OF ADMINISTR	RATION	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
18	Shorts, Men's (Item #18)	50.00000	EA		
				\$46.80	\$2,340.00

Comm Code	Manufacturer	Specification	Model #	
53101502				
		SAME SPECIFICATION		

Extended Description:

Shorts, Men's (Item #18) 5.11 Taclite Pro #73287, or equal

Date Printed: Apr 4, 2023 Page: 10 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST V	/IRGINIA
OFFICE OF ADMINISTRATION	VARIOUS LOCATION INDICATED BY ORI	-
601 57TH ST SE		
CHARLESTON WV	No City	WV
US	US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
19	Shorts, Women's (Item #19)	50.00000	EA	\$4 6 280	\$1,2\$5,880.00
				V 10.00	Ψ-1,000.00

Comm Code	Manufacturer	Specification	Model #	
53101504				
		SAME SPECIFICATION		

Shorts, Women's (Item #19) 5.11 Taclite Pro #63071, or equal

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINI	A
OFFICE OF ADMINISTR	ATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	;
601 57TH ST SE			
CHARLESTON	WV	No City	WV
บร		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
20	Long Sleeve Shirt, Twill, Men's (Item # 20)	100.00000	EA		
	,			\$58.50	\$4,095.00

Comm Code	Manufacturer	Specification	Model #	
53101602				
		SAME SPECIFICATION		

Extended Description:

Long Sleeve Shirt, Twill, Men's (Item # 20) 5.11 PDU Class-A Item #72344, or equal

Date Printed: Apr 4, 2023 Page: 11 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTI	RATION	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	wv	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
21	Long Sleeve Shirt, Twill, Women's (Item # 21)	70.00000	EA	\$58.50	
				φυσ.υσ	\$4,387.50

Comm Code	Manufacturer	Specification	Model #	
53101604				
		SAME SPECIFICATION	I	

Long Sleeve Shirt, Twill, Women's (Item # 21) 5.11 PDU Class-A Item #62064, or equal

INVOICE TO		SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTR	RATION	VARIOUS LOCATION INDICATED BY ORI			
601 57TH ST SE					
CHARLESTON	WV	No City	WV		
US		US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
22	Long Sleeved Shirt, Poly-Cotton, Men's (Item #22)	75.00000	EA	\$57.60	\$4,320.00

Comm Code	Manufacturer	Specification	Model #	
53101602				
		SAME SPECIFICATION		

Extended Description:

Long Sleeved Shirt, Poly-Cotton, Men's (Item #22) 5.11 Taclite Pro #72175, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		บร		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
23	Long Sleeved Shirt, Poly-Cotton, Women's (Item #23)	50.00000	EA	\$57.60	\$2,880.00

Comm Code	Manufacturer	Specification	Model #	
53101604				
		SAME SPECIFICATION		

Long Sleeved Shirt, Poly-Cotton, Women's (Item #23) 5.11 Taclite Pro Shirt #62070, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST \	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
บร		บร		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
24	Long Sleeved Shirt, TDU, Men's (Item #24)	100.00000	EA	\$67,50	\$6,750.00

Comm Code	Manufacturer	Specification	Model #	
53101602		SAME SPECIFICATION		

Extended Description:

Long Sleeved Shirt, TDU, Men's (Item #24) 5.11 Tactical TDU Shirt #72002, or equal

Date Printed: Apr 4, 2023 Page: 13 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTR	RATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City WV	
US		US	

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
Long Sleeved Shirt, TDU, Women's (Item #25)	75.00000	EA	\$58.50	\$4,387.50
		t on the second		Long Sleeved Shirt, TDU, Women's (Item #25) 75 00000 FA

Comm Code	Manufacturer	Specification	Model #
53101604			
		SAME SPECIFICATION	N

Long Sleeved Shirt, TDU, Women's (Item #25) 5.11 Tactical TDU shirt #62016, or equal

INVOICE TO	SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST VIRO	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION	VARIOUS LOCATIONS INDICATED BY ORDE		
601 57TH ST SE			
CHARLESTON WV	No City	₩V	
US	US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
26	Short Sleeved Shirt, Poly-Cotton, Men's (Item #26)	100.00000	EA	\$57.60	\$5,760.00

Comm Code	Manufacturer	Specification	Model #	
53101602				
		SAME SPECIFICATION		

Extended Description:

Short Sleeved Shirt, Poly-Cotton, Men's (Item #26) 5.11 TacLite Pro #71175, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTS 601 57TH ST SE	RATION	VARIOUS LOCATION INDICATED BY ORD		
CHARLESTON	wv	No City	WV	
US		ບຣ		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
27	Short Sleeved Shirt, Poly-Cotton, Women's (Item #27)	75.00000	EA	\$58.49	\$4,386.83

Comm Code	Manufacturer	Specification	Model #	
53101604				
		SAME SPECIFICATION		

Short Sleeved Shirt, Poly-Cotton, Women's (Item #27) 5.11 CDCR Duty Shirt #61022US, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTI	RATION	VARIOUS LOCATION INDICATED BY ORDI		
601 57TH ST SE				
CHARLESTON	WV	No City	wv	
US		us	•••	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
28	Short Sleeve Shirt, TDU, Men's (Item #28)	100.00000	EA	\$62.10	\$6,210.00

Comm Code	Manufacturer	Specification	Model #
53101602			
		SAME SPECIFICATION	

Extended Description:

Short Sleeve Shirt, TDU, Men's (Item #28) 5.11 TacLite TDU #71339, or equal

Date Printed: Apr 4, 2023 Page: 15 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTR	ATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City	wv
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
29	Short Sleeve Shirt, TDU, Women's (Item #29)	75.00000	EA	\$54.00	\$4,050.00

Comm Code	Manufacturer	Specification	Model #
53101604			
		SAME SPECIFICATION	l

Short Sleeve Shirt, TDU, Women's (Item #29) 5.11 TacLite TDU #61025, or equal

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRA	ATION	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City W	٧
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
30	Long Sleeve Polo Shirt, Men's & Women's (Item #30)	200.00000	EA	\$56.70	\$11,340.00

Comm Code	Manufacturer	Specification	Model #	
53101600				
		SAME SPECIFICATION		

Extended Description:

Long Sleeve Polo Shirt, Men's & Women's (Item #30) 5.11 Professional Polo #42056, or equal

INVOICE TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST VIRG	INIA
OFFICE OF ADMINISTRATION	VARIOUS LOCATIONS INDICATED BY ORDER	_
601 57TH ST SE		
CHARLESTON WV	No City	wv
US	US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
31	Short Sleeve Polo Shirt, Cotton, Men's (Item #31)	100.00000	EA	\$45.00	\$4,500.00

Comm Code	Manufacturer	Specification	Model #	
53101602				
		SAME SPECIFICATION		

Short Sleeve Polo Shirt, Cotton, Men's (Item #31)

5.11 Professional Polo #41060, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTR	RATION	VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE				
CHARLESTON	WV	No City	wv	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
32	Short Sleeve Polo Shirt, Cotton, Women's (Item #32)	70.00000	EA	\$45.00	\$3,150.00

Comm Code	Manufacturer	Specification	Model #	
53101604				
		SAME SPECIFICATION		

Extended Description:

Short Sleeve Polo Shirt, Cotton, Women's (Item #32) 5.11 Professional Polo #61166, or equal

Date Printed: Apr 4, 2023 Page: 17 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTR	ATION	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON US	WV	No City	WV	
		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
33	Short Sleeve Polo Shirt, Moisture- Wicking, Men's (Item #33)	100.00000	EA	\$43.20	\$4,320.00

Comm Code	Manufacturer	Specification	Model #
53101602			
		SAME SPECIFICATION	

Short Sleeve Polo Shirt, Moisture- Wicking, Men's (Item #33) 5.11 Tactical Snag-Free Performance Polo, #71049, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRAT	TION	VARIOUS LOCATION INDICATED BY OR	-	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
34	Short Sleeve Polo, Moisture- Wicking, Women's (Item #34)	50.00000	EA	\$41.40	\$2,070.00

Comm Code	Manufacturer	Specification	Model #	
53101604				
		SAME SPECIFICATION		

Extended Description:

Short Sleeve Polo, Moisture- Wicking, Women's (Item #34) 5.11 Tactical Snag-Free Performance Polo, #61165, or equal

INVOICE TO	SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION	STATE OF WEST	STATE OF WEST VIRGINIA		
OFFICE OF ADMINISTRATION	VARIOUS LOCATIONS AS INDICATED BY ORDER			
601 57TH ST SE				
CHARLESTON WV	No City	wv		
US	US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
35	Uniform Cap (Item #35)	100.00000	EA	\$16.20	\$1,620.00
				φ10.ZU	\$1,62U.U

Comm Code	Manufacturer	Specification	Mödel #	
53102503		SAME SPECIFICATION		

Uniform Cap (Item #35) 5.11 Taclite Uniform Cap #89381, or equal

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City	WV
us		US	

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
Uniform Cap - Mesh (Item #36)	100.00000	EA	\$6.41	\$641.25
			The following state of	Uniform Cap - Mech /Hom #36) 400 00000 FA

Comm Code	Manufacturer	Specification	Model #	
53102503	ROTCHO		99552	
			99002	

Extended Description:

Uniform Cap - Summer Mesh (Item #36)

INVOICE TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION 601 57TH ST SE	VARIOUS LOCATIONS AS INDICATED BY ORDER	
CHARLESTON WV US	No City WV	

Qty	Unit Issue	Unit Price	Total Price
75.00000	EA	\$16.20	\$1,215.00
¥37			H27) 75 00000 TA

Comm Code	Manufacturer	Specification	Mödel#	
53102503				
		SAME SPECIFICATION		

Fleece Watch Cap (Item #37) 5.11 Fleece Watch Cap #89250, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION	AL STATE OF WEST VIRGINIA		RGINIA	
OFFICE OF ADMINISTRA	ATION	VARIOUS LOCATION INDICATED BY ORD		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		us		

Unit Price	Total Price
\$12.60	\$945.00
	\$12.60

Comm Code	Manufacturer	Specification	Model #	
53102503		SAME SPECIFICATION		

Extended Description:

Watch Cap (Item #38)

Carhart Acrylic Watch Hat #A18-019, or equal

INVOICE TO	SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION	STATE OF WEST V	RGINIA	
OFFICE OF ADMINISTRATION	VARIOUS LOCATIO INDICATED BY ORI		
601 57TH ST SE			
CHARLESTON WV	No City	WV	
US	US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
39	Boonie Hat (Item #39)	50.00000	EA	\$31.50	\$1,575.00

Comm Code	Manufacturer	Specification	Model #	
53102503				
		SAME SPECIFICATION		

Boonie Hat (Item #39)

5.11 Boonie Hat Item # 89422, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST \	/IRGINIA	
OFFICE OF ADMINISTRATION	ON .	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	W	
US		US		

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
Leather Belt (Item #40)	100.00000	EA	\$57.60	\$5,760.00
		1 21 70 10 10 10 10 10 10 10 10 10 10 10 10 10	wy out to de	Leather Belt (Item #40) 100 00000 EA

Comm Code	Manufacturer	Specification	Model #	
53102700				
		SAME SPECIFICATION		

Extended Description:

Leather Belt (Item #40)

5.11 Arc Leather Belt #59493, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRO	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRATION		VARIOUS LOCATIONS AS INDICATED BY ORDER		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
41	Web Belt (Item #41)	100.00000	EA	\$20.70	\$2,070.00

Comm Code	Manufacturer	Specification	Model #	
53102700				
		SAME SPECIFICATION		

Web Belt (Item #41)

5.11 TDU belt #59551, or equal

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGI	STATE OF WEST VIRGINIA	
OFFICE OF ADMINISTRA	ATION	VARIOUS LOCATIONS A INDICATED BY ORDER	AS	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
us		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
42	Necktie-Clip-on (Item #42)	50.00000	EA	\$5.27	\$263.25

Comm Code	Manufacturer	Specification	Model #	
53102700				
	ROTCHO		30180	

Extended Description:

Necktie-Clip-on (Item #42)

Samuel Broome Style #90010, or equal

SCHEDULE OF EVENTS

<u>Line Event Date</u>

Date Printed: Apr 4, 2023 Page: 22 FORM ID: WV-PRC-CRFQ-002 2020/05

	Document Phase	Document Description	Page 23
DEP2300000030	Final	DEP Uniforms	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions